
Häge/Metzeler 6 6 2 Teilnehmer 1: Häge/Metzeler Teilnehmer 5: Marz/Karrer
Wagner/Wagner 0 2 0

Teilnehmer 2: Wagner/Wagner Teilnehmer 6:Huber/Teichert
Holzheu/Holzheu 6 6 6 3

Bye 0 Häge/Metzeler 6 6 2 Teilnehmer 7:Karrer/Oswald
Holzheu/Holzheu 0 0 0

Marz/Karrer 2 2 0 Häge/Metzeler 6 6 2 Teilnehmer 8: Bye
Huber/Teichert 6 6 2 Huber/Teichert 4 3 0

Huber/Teichert 6 6 2 Teilnehmer 9:Müller/Lehmann
Karrer/Oswald 6 6 6 3 Karrer/Oswald 3 1 0

Bye 0 Teilnehmer 10:Pons/Hengeler
Häge/Metzeler 6 2 10 2

Auberbach/Eberhard 2 6 8 1 Teilnehmer 11:Schmid/Schulz
Müller/Lehmann 1 1 0
Pons/Hengeler 6 6 2 Pons/Hengeler 6 6 2 Teilnehmer 12: Bye

Schmid/Schulz 1 0 0
Schmid/Schulz 6 6 6 3 Pons/Hengeler 3 3 0 0 Teilnehmer 13: Bye

Bye 0 Auerbach/Eberhard 6 6 6 3
Auerbach/Eberhard 7 6 2 Teilnehmer 14:Auerbach/Eberhard

Bye 0 Schneider/Angele 6 4 0
Auerbach/Eberhard 6 6 6 3 Teilnehmer 3: Holzheu/Holzheu Teilnehmer 15:Schneider/Angele

Schneider/Angele 6 6 6 3 Teilnehmer 4: Bye Teilnehmer16: Bye
Bye 0

1. Runde Viertelfinale Halbfinale Finale
© Deutscher Tennis Bund e.V.

1.
S

at
z

2.
S

at
z

3.
S

at
z

S
ät

ze

K.O.- System (16 Spieler 2 Gewinnsätze)
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Sieger: Häge/Metzeler
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